62. Foreign competition in the UK

1. Missing words

In an open economy such as the UK, international competitiveness does not only relate to the ability of UK firms to sell abroad but also whether they can compete against imports within the domestic market.  A firm’s competitiveness depends on _______________________ factors, i.e., those that are within its control, and _______________________ factors, which are beyond its influence.  One of the most important factors for most businesses is price, particularly in relation to rival goods or services.  This requires firms to operate as ______________________ as possible to keep costs down.  However, other factors may be equally, if not more, important. These include the design and ___________________ of products, the amount of ___________________ in Research & Development, and the ability and effectiveness of management.  
Hint: words from – efficiently, external, internal, investment, quality.

2. Outline two:

2.1 External factors that could increase the level of foreign competition in the UK: _________________________
______________________________________________________________________________________
______________________________________________________________________________________
2.2 Benefits of an increase in foreign competition for UK consumers:

______________________________________________________________________________________
______________________________________________________________________________________
2.3 Ways in which the Government could help UK firms improve their ability to compete internationally:
______________________________________________________________________________________
______________________________________________________________________________________
3. Data response. Read the passage below and answer the questions that follow:
3.1 Briefly explain two reasons why Aldi and Lidl are able to charge their customers lower prices than competitors:

______________________________________________________________________________________
______________________________________________________________________________________
3.2 Suggest two ways in which rivals such as Tesco could attempt to hold on to their current customers:

______________________________________________________________________________________
______________________________________________________________________________________
4. Key terms. Which key terms are being described by the definitions below?
4.1 Goods or services that are purchased within the domestic economy from foreign firms: __________________

4.2 A measure of how efficiently a firm can turn production inputs, such as labour, into output:









_________________________________

62. ANSWERS – Foreign Competition in the UK
1. internal … external … efficiently … quality … investment
2.1 A strong pound (appreciation of sterling against other major currencies) making imports into the UK cheaper; government policies in other countries subsidising or offering other support to export industries; further reductions or removal of barriers to trade by the EU.

2.2 Access to cheaper products, more choice, improvements in quality, customer service and increased innovation as UK firms attempt to compete.

2.3 Reduced taxes on company profits to encourage investment in research & development; support for new businesses; increased public spending on training and apprenticeships to improve skills.

3.1 Basic store layout to keep running costs down; concentration on a narrow range of product lines to obtain discounts from bulk buying.

3.2 Introduce or increase the number of budget / low cost ranges sold in-store; improve level of customer care; emphasise the choice available to customers from having more product lines available.

4.1 Imports

4.2 Productivity

German supermarkets compete for UK shoppers


Supermarket giant, Tesco, has been losing ground within the UK grocery market to German rivals, Aldi and Lidl.  In 2010 Lidl and Aldi had a 5% market share between them, whereas Tesco dominated the UK market with a 31% share. By early 2016 Tesco’s share had fallen to 28% while Lidl/Aldi had moved above a 10% share. Despite all the attempts made by Tesco to cut its prices, Aldi could still claim in 2016 to be 30% cheaper than Tesco – just as in 2010. 





One of the main reasons behind the German businesses’ lower costs is the limited variety of products they stock – approximately 2,000 lines compared with around 30,000 stocked by the bigger supermarkets.  Aldi and Lidl offer a basic, no-frills service in-store, with some product lines sold in pallets straight from the warehouse. Although both stores are still tiny in the UK, compared to rivals such as Tesco and Asda, both Aldi and Lidl have a much bigger presence in Europe overall.  Both have ambitious expansion plans within the UK, aiming to open a further 1,500 new outlets in the next ten years.
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